Directions {1-10) :

these
questions, read the sentence to
find out whether there is any
grammatical error in it. The error,
if any, will be in one part oj the
sentence. Mark that part with the
error as your answer. If there is no
error, mark ‘No error as your

answer. (Ignore the errors of

punctuation, if any.)

. A lot of research has béen (1)/
conducted on the field human
(2)/-resources for understanding
what creates (3)/ work culture in
an organisation. (4)/ No error(5)

. Air pollution in the city rises {1)/

. Globally, the Indian market is the

extremely successful in (2)/
caurbing the usage of (3}
pesticides and increasing the per
unit output. (4)/ No error(5]

beyond the permissible limiis
every winter (2)/ as the pollutants
cannot escape from the (3)/]
atmosphere due to radial |
inversion. {4}/ No error(5)

second (1)/ largest user of mobile
phones, with more than (2)/ a
billion people using mobile (3)/
phones for calling and internet
purposes. (4)/ No error(5)

C. Accidents are a common sight
on the roads of China for
many reasons.

D. In 2015, it added more cars to
its roads than were driving in
the whole country in 1999.

¥. Economic rise has played a

11.

large part in all these
developments.

F. In the rich world, where this
economic rise has already
taken place, the number of
licence-holder is flat or
falling. |

Which of the following should be

the FIFTH sentence after the

rearrangement ?

: B . : g, After having working for five (1)/ ;
: *izﬂag] fﬂf ﬂ:ﬂ;;ig tﬁjﬁiﬁgﬂ ~ years in a private firm, Karan {2)/ g% i E?j g
which read that (2)/ the area where EE;{?E;VH mbg;ipaﬂngefiaf]é (5} C
we was (3)/ under observation by i RITANEE | 12, Which of the following should be
L L hates . (4)/ No examinations. {4}/ No error(5) the SIXTH : £ v
e neighbouring country. U0 Thoss who want to do sood ace e sentence after the

error(5)

(1)/ neither selfish nor in a hurry

rearrangement 7

le opine ; 1) B 2} D
: g;u?ag?; :hvzaiteli‘iﬂpnfe as?llres bECHElSEt (2}/ lthey kg;w;vhat txt ES% A E 41 0
taken against (2)/ traffic signal requires a long { . (5] F

impregnate people with good. (4)/
No error(5) .

Directions (11-15) :
the given six sentences (A}, (B),

13. Which of the following should be
the FIRST sentence after the

.rearrangementi 7

violators, taking such an _[3}/
action. have been pending since

_ Rearrange
long. (4)/ No error(5)

4. Though  these - buildings have - : (1) A 2} €
- been ggl._i]ven (1)/ clearance by fire | g%ﬂgﬁe@ﬁ?“isﬁ?}.t;ﬂ f}{}f; Upﬂg Egig (4) F
. safetv officials, any (2)/ layman S |
Eﬁ?mﬂ:ig'?tid th};t(hardl}’ (3)/] meaningful paragraph and then| 14 Which of the following should be

answer the given questions.
A, Moreover,
 licence-holders has risen even

.the SECOND sentence after the

any .fire - safety. norms have;
| rearrangement ?

. the number of
followed. (4)/ No errox(5)

: _ 1 thal- o, . licenced 1s ris 1) A |
o Hﬂ}‘dl}ﬂ he had egtgred t_he,_:_. . “faster, one in five Chinese | E:;% I E%BD
building (1)/ when the seaurltgu . now has alicence. (5) E
guard called and (2)/ informec - g, Apart from the fact that the} 15 Which of the following should be

him that he had left his (3)/ car|
door open in the parking lot. (4)/
‘Noerror(5) . ..
6. The new variety of genetically .
modified (1)/ -crops -is being}:

country’s population is so

Jarge, most of these accidents

‘have to do with the fact that

“- ‘China is so new fo the
" business of driving cars.

the FOURTH sentence after the
rearrangement ?

(1] A
3) G
(3) D

(2) B
(4) F




el e me e ek e wmmt
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Directions {16-22) : Head the
following passage and answer the
given questions.
After the Second World War, the
leaders of the Western world
tried to build institutions 1o
prevent the conflicts of the
preceding decades fromn
recurring. Thev wanted to {oster
both prosperity
interdependence, to ‘make war
not only unthinkable bui

anda |

materially impossible’. Their
work bore fruit. Expanded global
trade has raised incomes around
the world. While globalisation is
sometimes  poriraved as a
corporate  plot  against the
workers; that was not how it was

seen before 1914. British trade
unions were in favour of free |
trade, which kept down food:

prices for their members and also |

opened up markets for the
tactories in which they worked.
Yet, as the Brexit vote
demonstrates globalisation now
seems to be receding. Most

economists have been blindsided |

by the backsiash. Free trade can
be a hard sell politically, The

political economy of trade is|

treacherous. Its benefits, though
substantial, are dilute, but its
costs are ofien concentrated. This |

i

gives those allected a strong
incentive to push for
protectionism. Globalisation |

itsel! thus seems {o create forces
that erode political support for.

integration.

Deeper  economic
required harmonisation of laws
and regulations across countries,
Differerices  in rules  on
employment contracts or product
safetv requirements, for instance,
act as barriers to trade. Trade
agreements like the Trans-Pacific
Partnership focus more on
“non-tariff barriers” than they do
on tariff reduction. The net
impact of this is likely to be that
some individuals, consumers and
businesses are not likely to be as
benefitted as others and given
rise to discontent. Thus the
consequences of such trade
agreements often run counter to
popular preferences. Joseph |

integration

Stiglitz, a Nobel Prize winner, has

16.

global |
facilitating excessive houschold

warned that companies inthuenoe l

aver trade rules harms wor ks

and orodes  support for trade

liberalisalion. | Clumsy
governmaent alltorls L0
compensale  workers  hurt by

elobalisalion contributed o the
financial  crisis, )y

horrowing, among other things.
Researchers have also
documented how the cost ol
America’'s growing trade with

China has fallen
disproportionately on certain
American cities. Such costs
perpetuate a cycle 01
globalisation. Periods of globa
integration and technological
progress generate rising
inequality, ~which inevitably
friggers ~ two  countervailing

forces, one beneficial and one
harmful. On the one hand,
governments tend to respond to
rising inequality by increasing
redistribution and investing in
education, on the  other,
inequality - leads to  political
upheaval and war. The first great
era of globalisation, which ended

in 1914, gave way to a long period

of declining inequality, in which
harmful forces played a bigger
rise than beneficial ones. History
might repeat itself, he warns.
Such warnings do not amount to
arguments against globalisation.
As many economists are quick to
note, the benefits of openness are
massive. It 1s increasingly clear,
however, that supporters of
eConomic integration
underestimated the risks both
that big slices of society would
feel left behind and that
nationalism would continue to
provide an alluring alternative.
Either error alone might have
undercut support for
globalisation and the relative
peace and prosperity it has
brought in combination. they
threaten to reverse it

What can be concluded from the
example of Britain cited in the
passage ?

(1) Countries which Previously

supported globalisation no
longer do. '

e e Y e wte

17,

18.

18.

20,

(23 Trade unlons are [casidrage 1l
influcnoe,

(1) Agriculture  has sidfered in
most developed countres,

(4) Britain  has  not recovered
rom {he financinl crisis.

(5] Tochnological progress sseasts,

C eGONOIMIC growth
tremendously.

Which of the following has/have

heenn the ouwlcome(s) of global

integration 7

A Laws have become fairer tor all,

B Trade unions have become
more peaceful.

(.. Trade has
substantially.

(1} Only C

(2) Only A

{

QoW

3) Only A and B

{4) Only A and C

(5) All A, Band C

which of the following is the

author's view of Trans-Pacific

Partnership 7

(1) It is likely to face opposition.

(2) It will be proved beneficial to
all workers.

(3) It  will
effectively.

(4) Trade with China will suffer.

(5} None of the given options

Which of the following is true in

the context of the passage 7

(1) The first era of a globalisation

reduce taritis

resulted in a decline in
inequality.
(2) Governments are making

efforts to help workers hurt by
globalisation.

(3) Standardising
regulations will
economic integration.

(4) Technology has exacerbated
the ill-effects of globalisation.

(5) All of the given options are
irue in the context of the
passage.

Which of the following best

explains the phrase “Such

warnings do not amount to
arguments against globalisation”

in the context of the passage 7

(1) Most economists are
unnecessarily alarmist about
globalisation.

(2) Globalisation is beneficial to all.

policy
hoost

(3)Do  not do away with
globalisation but  take
concerns about globalisation
SEI‘iDus]y_



., lobalisation during elections
. but actually support it.
(5} We . ' cannot . reverse

u : hiﬂh ﬂf 'thﬂ fﬂllﬂ w ing Eﬁn ba
" said ‘about- America's trade with
_China? |

" {1) America’s discontent against

2.

" globalisation has fallen.
{2) Worker’'s wages have risen

tenfold.

 (3) Arnerica has heen 'baéil? hit by

the slowdown in China.

" {4) It has been especially harmful

for certain American ecities.

" {5) None of the given options can

- besaid, . |
Which of the following is the
central idea of the passage ?
(1) Protectionism is the only way

~for developed countries to

| (3) While

retain stability.

(2) Globalisation is receding and
its decline should be speeded
up.

politicians are in
favour of  globalisation,
economists are not.

(4) While developed countries are
on the decline emerging ones
are rising.

(5) The backlash against
globalisation is serious and
must be handled carefully.

Directions {23-38) : In the given

passage, there are blanks, each of

which has been numbered.

Against each, five words are

suggested, one of which fits the

blank appropriately. Find the
appropriate word in each case.

The use of technology In

education has been present

throughout history. Qver the last
century, schools have modified
their ...(23)... to teaching as well
as the methods that are used to

- enhance student learning. Chalk

and slate were at one time the

. newest technology. From there,

technological changes have gone

~ from film, radio and television to

 desk-top computers and now into

~ interactive white _boards like |
SMART . Technology. .. The

capabilities teachers have with
new technology give them. the

...(24)... to differentiate lessons |
for ...[25)... overall learning,

~ globalisation but we must|

Mictosoft PowerPoint is one of

23.

24.

23.

the most popular technology
tools used in any clagsroont
SMART  Technologies FHE
integrated the SMART Board
Software wilh PowerPoint, thus
combining Lthe newesl
technology with  the mosl
popular $1. This brief description
shows that new technology is
being implemented in  the
classroom. Unfortunalely, due o
...(26)... costs, the more advanced
the new equipment becomes; the
less likely schools are willing {o
...{27)... it for their classrooms.
...[28)... sufficient funds, it is
difficult for schools to obtain
technologically advanced
classrooms. SMART Technology
is the most recent equipment to
enter the classroom. In 2002,
SMART Boards ranged from
$999.0 to $1,999.00, and that was
for just the board. If a school
wanted to better ...(29)... its
finances and purchase the rolling
floor stand accessory, which
makes the technology more
accessible to all teachers. It would
pay an additional amount of
somewhere $425.00 and $499.00.
Any school that desires new
technology must have the
capacity to ...(30])... it. However,
even with sufficient funds, a
techmological integration effort is
only as strong as  the
administrative support behind it.
(1) pathway  (2) departure

(3) approach  (4) pedagogy

(5} syllabus
(1) faculty
(3) limitation
(5) ability

(1) bigger

(3} inferior
(5) alleviated

(2) lesson
(4) abundance

(2) better
(4) benefit

26, (1) much (2) overhaul
(3} high (4) hover
(5) humble

27. (1) achieve (2) acquire

28.
29,

(3) archive
(5) disperse

(4]} excess

(1) Without (2} Following
(3) Despite  (4) Bereft

(5) Unless |

(1) allotment  (2) proportion
(3) allocate (4) conform
5) prorata. i
(1) earmark - (2) patent

‘(3) publish- - (4) sharp

5) purchase

PART-H
QUANTITATIVE APTITUDE
Directions  {31-335) frr s
{jI'.J!‘,'f-j.!"l'}!').*}."'s', frae r.f;’;.fjufjr”_g_e.;

31.

32.

33.

34.

33.

36.

g

2
d1) 6~ davs
(1} 5 y

nainhered Tand 1are given, Yoo
have lo solve Bkl Hhe couotions
aned mork the appropcicte answer.
(;ive answer !

(1) kb x <y

{
[
(4) I x 2 ¥
(5) H relationship betwesn x a1
y cannot be determin 1]
[ x*-9x+18=0
.5y —22y+24=0
L6x*+11x+5=0
IL 2y +5y+3=0
. ¥* +10x+24=0

e

1. * — V625 =0

1.10x° +11x+1=0

1. 15/ +8y+1=0

.15x" —11x+2=0

I 10y° -9y +2 =0

The time taken by 24 children to
complete a project is twice the
time taken by 16 women 10
complete the same project. It 28
women complete the project in 8
days, how many days will 28
women and 24 children together
take to complete the project 7

(2} 5 % days-

(3} 5 - days (4) 6 : days

3 3
{5} None of these
The circumference of the

semi-circle is 108 cm. If the side
of a square is 30% more the
diameter of the semi-circle, what
is the perimeter of the square 7
[1] 2122 con . {2} 226 .4 cm

(3) 224.8cm  (4) 214.6 cm

(5) 218.4 ¢m

Directions (38-42) What
approximate value will come In
place of guestion mark (7) in the
given questions ? {(You are not
expected to calculate the exact
value.)

38, V227 x11.98+1994 =7

(1) 15 (2) 18 (3) 9
(4) 35 (5) 27
39, 130.02 + 241+6~-165.11=%7
e (2) 125
(3) 1000 (4) 64

(5) 216



41.

4.

£9% of 80.15 + B0.04% of 18012 =7
(1} 80 - {21180
{3} 180 ~ {4) 140
(5} 178 ~
14.08° ~ 301 x 104,11+ 4.02=7
(1} 280 {2) 200 .
(3} 160 {4) 120
{3} 125
1 i
~ X117 -=x16+? = 40
4 3 |
{1} 35 (2] 20
(3} 6 (4} 17
(5} 10

. Ronnie invested ¥ P in a scheme A offering simple

interest at 12% p.a. for two vears. He invested the
whaole amount he received from scheme A, in another
scheme B offering simple interest 15% p.a. for two
vears. Hf the difference between the interest sarned

from schemes A and B was ¥ 2684/~ what is the

vaiue of P ? .
(1) T 2.640/- . 19) 12500/
{3} T 2,.250i- (4]} T 1,800/-
{31 ¥ 2,000/-
Directions {44-48) : Study the fable and answer the
given queshions.
Data regarding number of students studying in
various sireams in various universities
{St. James, V. K, and DVA) in the year 2009

5i. James V.K. DVA

Total | Female | Total | Female ! Total | Female
Stndents | Studenis|Students Students| Students |Students

2500 2000 1200 600 2400 1500

1500 600 16060 | 500 2000 800

800 300 800 300 600 | 150

= o m e

350 200 200 250 470 200

Note : Total students = Male students + Female students
44. What is the respective ratio between the total number

45.

of females studying in stream C in all the universities
together and the total number of females studying in
stream D in all the universities together 7

1) 20 : 13  (2)15:14

3}5:4 (4} 15:13

5} 13 ;11

Total number of malas smdymg in stream A in all the
universities {ogether in 2010 is 1200 more than thatin
the year 2009. In 2010, what was the total number of
studenis (male + female} ﬂﬁudymg in stream A in all

the universities together; if the total number of male |
students in stream A'in zﬂ‘i{}h ﬂﬂnsntuted 5@% ﬁf the|

total ﬂumher of 52?&{3.&:11’5 2

EB% 5000 [4} 55@3
{56200

studymg in saﬁle streaﬁls tﬂgﬁther in: St }ames '?

55-‘.

%7,

448.

49,

50.

a1i.

52,

3.

{1] 35% (2] 38%

(3) 409% (4) 52%

(5] 30%

What is the average number of male students studying
in stream D in all the given universities 7

(1) 240 (2) 210

(3) 290 (4] 310

(5) 280

Number of students studying in stream € in V.K. is
what percent of that studying in stream Bin DVA?

(1) 35% (2) Sﬁ‘iﬁ
(3) 41 2% (4) 30 %

(5) 40% .

The distance between two cities (M and N) is 350 km.
A train starts from city M at 6 a.m. and travels towards
city N at 63 kmph. Another train starts from city N al
7 a.m. and travels towards city M at 77 kmph. At what
time will the trains meet 7

(1) 5: 00 a.m. (2} 10 : 00 a.m.

(3) 9: 03 a.m. . @8sam

(5} 9: 20 a.m.

A, B and C started a business with investments of
¥ 1,500/-, T 550/- and T 2,400/~ respectively. Alter 8
months from the start of the business, A and C left and
B invested an additional amount of ¥ 450/-. If
difference between the share in annual profit received
by B and the total annual profit was T 13,000/-, what
was the total annual profit received 7

(1) ¥ 16,500/ (2) ¥ 18,150/-

(3) ¥ 13,200/~ (4) T 19,800/

(5} ¥ 16,750/-

Directions (51-55) : What should come in place of
question mark (?) in the given number series ?

14 15 32 997 2005

(1) 354 (2) 372 (3} 400

{4) 368 (5) 324

‘8 h 4 7 137

(1) 31 . (s [3] 33.5
(4) 35.5 : {5;] 3_-1*5_ =

_492[}43 84'?

- (1) 148 s -‘[z] 15?_ _[3') 191

54,

46, Total pumber of studﬁﬂts 5tudymg in strﬂams "?and E f o n
to gﬂﬂlﬁ*ﬁ' 1}1 v K ﬁrﬁ W}] &t pﬂmant 3&55 5:': L hf}sa : L

. (4) 145 '-=.:*---.-{5] 13?_:.:..:-;_ -

13 15 2037 1&2 v e

';69 ?4 ﬁ‘? 78 55 o -
"'_'_{1] 35 . .
o hllam mmremz Kviis mated v

Some of this mix -uré ﬁi‘r'aa'}t‘“? e- i

(1} 6400 | (2} ﬁ&ﬂ{} - 111] aJ: B If ﬂftﬂl’? 1] kin’




54. Cost price of two beds are equal. One bed & sold at o

- g;}mﬁ% of 25% and the other one tor € 6,598 - loss than
o the first one. If the averall profit varned atter selling
%@gh ghﬂ M § 1% 88w hﬁi 18 ﬂ"ii;“. T ’glf‘h_’?t_‘f af cach bed 7
(1) T 20.400/- (21 T 17,400 -
: E - {3} T 18.600/- (47 T 19,400 -
2 3507 (5) T 15,800
N 3% B3. A bag containg 16 eggs aut of which 3 are rotien. The
E 2% -- rﬁmaﬁmﬂg eggs are in go0d condition, I two egus are
s 200 drawn randomiv, what is the probability that one of
© b 154; the eggs drawn is roften | )
_,.% 1%: R i2) 14 (3] ¢
E 50 o " 2 12
= ZO604 % 205 § ZH06 E 2007 ¢ 2008 (4) ,];L_ {51 “‘i;;
[e=M| 320 | 310 220 % 260 | 170 |24 =
%_M,ﬁ_. N 100 1 370 o e S.

B
e
0

57. Number of bags sold by store M decreased by what

28,

percent from 2004 to 2006 7

3. 1 1
1129-% 2} 27 —% 3} 31-9%
tH2d Lehed Blat |

1 1
) 39~ 5) 33-9%

Slak o 2) 94

What is the respective ratio between total number of
bags sold by stores M and N together in 2006 and that
in 2008 ?

{1113 :8 (2} 11:9
{419:8 (5) 11:8
In 2004, 30% of the bags sold by store M and 40% ot

(306 5

Directions {66-70) : In these queshions, relationship
hetween different elements Is shovn i the statements,
The statements are followed by two conclusions. Study
the conclusions based on the ghven statemenls and
select the appropriaie ansiver.

(Give answer :

(1) If either conclusion { or 11 is true

(2) If both conclusions [ and H are true

(3) If only conclusion 1 is true

{4) If enly conclusion I is true

{5} If neither conciusion [ nor 1l ts true

{66-67) : Statements:L<A=M<P: A< Celx: MallsR
Conclusions : L O<P M
67. Conclusions: LT <M I1. A>R
68. Statements : D2U=8Sz2T:0=P<sb
Coenclusions: L.D>P . P=1)
(69-70) : Statements: T>I2L>E;IsN<B:N25>D

the bags sold by store N were leather bags. What was

the total number of leather bags sold by stores M and

N iogether in 2004 7

{1) 188 (2} 172

(4) 164 (5) 176
690. If the average number of bags sold by store N in 2007,

(3} 184

61.

B62.

B3.

'ﬁth'{}f her savings in LfC:.' if Neil invests ¥ 1,750/- more

 (3) T 40,000/

2008 and 2009 was 305, what was the number of bags
sold by the same store in 2008 ?
(1) 420 (2) 445
(4) 440 (5) 415
What is the difference between total number of bags
sold by stores M and N together in 2005 and that in
2007 7

(1) 250 (2) 240
(4) 260 (5] 280
Three years ago, Manini’s age at that time was thrice
of Rinu's age at that time. The respective ratio
between Rinu’s age six years hence and Manini's age
eight years hence, will be 3 : 7. What will be Rinu's age
two years hence 7 (in years)
{1) 20 (2) 26
(4) 32 (5) 23
The respective ratio between the monthly salary of
Neil and that of Dipti is 5 : 6. Neil and Dipti, both save

(3) 425

(3} 210

(3} 29

40% and 25% out of their respective monthly salary.

Neil invests Eth of his savings in LIC and Dipti invests

5

than Dipti mLIC,Wh-ﬂt is Neil's monthly salary ?

(2) T 25,000/~ -

(1) ¥ 20,000/-
(4) T 15,000/

(5Y F 20.000/-

68. Conclusions: L N>E
8. Conclusions: L. 5<I

M. T<B

. L>1D

Directions (71-76) : Studv the given information
carefully to answer the given questions.

Seven athletes — M, N, O, P, Q, R and S live on seven
different floors of a building bt not necessarily in the
same order. The lower most floor of the building is
numbered 1, the one above that is numbered 2 and so
on till the topmost floor is numbered 7. Bach one ol
them runs tfor a different distance in a
marathon-750 m, 1200 m, 2200m, 2900 m, 3600 m,
4300 m and 5000 m. but not necessarily in the same
order.

The one who runs for 4300 m lives on floor numbered
4, Only one person lives between M and the one who
runs for 4300 m. Only two people live between M and
S. The one who runs for 1200m lives on one of the
even numbered floors above R. Only two people live
between the one who runs for 1200 m and the one
who runs for 2900 m. N lives on one of the floors
apbove M. N runs for 2100 m more than the one who
lives on floor numbered 3. The number of people

living between the one who runs for 5000 m and S is

same as the number of people living between M and

~ R. Only one person lives between R and Q. The one

who runs for the shortest distance lives immediately



71,

72.

73.

74,

73.

76.

below Q. Only one person lives |
between P and the one who runs
tor 3600 m. |
Which of the h}ﬂﬂ%}s}g live(s)
between O :zme:i the one who runs
for 2800 m 7
{1} Only the one Whﬂ runs for
Z208m
(2l Both Mand R
{3} Both M and the one Whﬂ FUNS
tor 3680m .
{4] Both P and the one who runs
for 2200m
(5} Only R
As per the given arrangement, |
four of the following five are alike

in a certain way and so form a |
- group.

Which one of
following does not belong to the
group 7

(1) M-4300m

(2) Floor numbered 7 - S

{3} Floor numbered 4 - N

(4) P-3600m

(5) Floor numbered 5-5000m

How many people live between S
and O 7

(1] Five (2) Une

(3] None (4] Four

(5} Thres

Who amongst the following runs
for 2900 m 7

(1} 5 (2] M

3] N (4) P

5) Q

I the total distance coverad by B
and M is 4800m, then how much
did B run alone ?

{1} 4050 m (2) 2600 m
(3) 1200 m (4) 3600 m
(5) 1800 m

Which of the following statement
is true with respect to the gwen
arrangement 7

77.

@

78.

am from Point V towards south,
reaches Point R, takes a lett turn
and reaches Point C.

In which direction is Point V with
respect to Point P?

(1) South-west (2) West

(3) South-east (4) North-west
(5) North-east

If a person walks 15m towards

 east from Point V, takes a right

8.
the| =

80.

81.

82.

(1) None of the given ﬂptmns is s

true
(2) Only two people live between
Pand R. .
(3) M lives on floor numbered 2.
(4

) The one wheo runs for ’758 m 3

lives immediately above’S."
(5} Q runs for 3600 m.

Dirvections (77-79)

Point Mi Pﬂmt Qisemiothe ;-east

Stucly thei -
given . infermation.. cﬁmﬁzﬂy fo]
- gnswer the given questwns - B
Point M is 15m to'the east ﬁaf Pﬂmi -

L. Point C is 3m to the morth of |

m}rth ﬂf Point L ﬁ pars o Wal h@ﬂk 15 1 3{:1:11 thm:k [Nﬂte Thel': L

.mega and Rﬂlex

turn and walks 4m, how far will
he be from Point M 7

(1] 5 m (2) 9m
{3) 12 m (4) B m
(3] 8m

What is the difference of the
distance between Points V, L and

Points R, Q 7

(1) 14 m (2) 9 m
(3) 8 m (4)3m
(5) 7m

Directions (80-82) : Head the
following information and answer
the given guestions.

T is the daughter of P. P is the
father of L. L is the only son of A.
B is the daughter-in-law of A. W
is the son of B.

How is P related to B 7

(1) Father-in-law

(2) Brother

(3) Son-in-law

(4) Father

(5) Brother-in-law

If Y is the husband of T, how is L
relatedto Y ?

(1) Brother-in-law

(2] Nephew

3) Son-in-law

(4) Son

5) Brother

How is A related tt:} W1t
1) Uncle -
2) Grandfather

- {3} Grandson.

{8} Grandmother

Biraﬂtlﬂﬂﬁ {83-85)

- given’ mfamatmn cﬂmfuﬂy to

~ ansgwer the given questions.” =~ | =

8ix books — A, B, C, D,Eand F,| _ftt} the immediate" right of Z. C is
each of different thickness, are|

* keptonatable.Fisthickerthan B« -?._f_wea:rmg Titan.  Only three people

: ,lbut thmmr than & A is. thmner e

4) Granddaughter

83.

84,

85.

thickness of all the books is in

whole numbers. ]

1 Eis 12cm thick, then which of

the following is true about E 7

(1) F is 2 cm thicker than E.

(2) The total thickness of E and C
together is 22 cm. '

(3) E is thinner than D,

(4) All the given statements are

frue
(5) E is the third thickest book of

all.
If A is 2 cm thicker than D, then
how thick is D 7
(1) Cannot be determined
(2] 15 cin
(3) b cm
(4] 11 cm
(5) 3 cm
With respect to the thickness of

given books, it B + A =17, then
F+B="7

F

(1) 17 cm (2) 21 cm
(3) 23 cm (4) 19 cm
(5) 24 cm

Directions (86-90) : Study the
given information carefully to
answer the given questions.

Eight different people viz. C, D, E,
F W, X, Y and Z are sitting
around a circular table facing the
centre but not necessarily in the
same order. Each one of them is
wearing a watch of a different
brand viz. Titan, Rado, Casio,
Tissot, Rolex, Swass, Omega and

- Longines but not necessarily in

the same order.

Only two people sit between the
one wearing Rado and X. The one
wearing Tissot sits second to the
left of X. Only three people sit
between the one wearing Rado
and W. The one wearing Casio

- sits second to the right of the one

- - wearing *-Swass is
Study the |

wearing Swass. Neither X nor W
1s - wearing - Swass. The one
not an

" immediate. neighbour of the one

‘wearing Tissot, Z is not wearing
- ‘Fissot. The one‘'wearing Titan sits

an’ immediate’ ‘neighbour of one

o 8it bet‘ween C and Y, Only three
"'f:"’_"j;_f'f_;.ff.;':'f'{""“j_f’fthmnﬁst E is thlnner than F 'I‘he- -
of Point.C. P&mi Pis 3m tothet ~ -*:fsecmd thmnﬁst blﬂk

" ‘south of Pmnt Pﬂmt V i to B

.:-:_:.,-.;;:-__i;-_:penple sit hatwaen F and the one

Cpp Wearing Omega. Neither.F nor E

? {]HI” 1 S Wﬂal‘lﬂg R&dﬂ .1311}7 ﬂ]]ﬂ pB‘I‘SDH

e E}HES wearmg



g6. Who amﬂngsi the following s;tsi

87.

88.

89.

494a.

to the immediate left of the one
wearing Rado ?

(1) C

(2) The one wearing Omega
(3} The one wearing Swass
(4) 7 |
(5) D

Who amongst the following is
wearing Longines ?

(1) X (2] ¥
(3) D (4) E
(5) 7.

Four of the following five are alike |
in a certain way based on the!
given arrangement and thus form
a group. Which is the one that|
does not belong to that group 7 |
(1)»Z —~ Rado |
(2) E ~ Longines |
(3] X ~ Rolex |
(4) W — Swass
(5) C = Titan
Which of the following
represenis the brand of watch!
worn by E 7 f
(1) Uasio
{2} Omega
(3} Longines
(4) Rolex |
(5} Swass |
Who amongst the following sit
exactly between X and the one
wearing Rado when counted
from the right of X 7 |
(1) The ones wearing Tissot and
Titan
(2) Z and the one wearing
Longines
(3y D and F
(4) £ and Z |
(5} E and the one wearing Swass |
Directions (91-95) : Study the
following Information lo answer
the given guestions,
Eight friends—P, Q, R, 5, 1, b Y
and W are seated in a straight line
with equal distance belween |
each other, bul not necessarily in |
the same order. Some of them are
facing porth while some are
facing south. .
e V is an immediate neighbour of
the person sitting at an exireme E
end of the line. R sits second to
the left of V.
¢ Only one person sits between
Rand T. |
¢ As many people sits to the right
of T as to the left of P. V and P |

.i \

91.

92.

93.

94,

face the same direction H1.6n., if |
V faces north then P also faces
north and vice-versa.)
¢ Immediate neighbours of P face
opposite directions (i.e, if one!
neighbour faces north then the |
other faces soulh  and
Vice-Versda.)
¢ O sits tourth to the left of 5. QQ is
not an immediate neighbour!
of V.
¢ Persons sitting at the extreme
ends face opposite directions
(i.e.. if one person faces north
then the other person laces
south and vice-versa.)
¢ W faces south. W does not sit at
an extreme end of the line. U,
sits to the immediate right of W.
¢ U and Q face the same
direction (i.e., if U faces north
then () also faces north and
vice-versa.) |
As per the given arrangement,
which ~of @ the - loilowing
statements is not true with
respect to U 7 |
(1) U sits at an extreme end of the
line.
(2) Only three persons
between U and R. ;
(3) U sits second to the left of T |
(4) All the given statements are
true | |
(5] U is an immediate neighbour
of 0.
What is the position of Q with
respect to W 7
(1) Immediate left
(2) Second to the right
3) Third to the left
4) Third to the right
5} Second to the leit
Four of the following five are:
alike in a certain way based on
the given arrangement and hence
form a group. Which of them
does not belong to that group 7

sit

(1] WS (2) QT |
(3} WR (4] UP
(5] RV

How many persons sit to the left
of T 7

i{%-@ﬁ} : Statements :

Which { e

represents 1 e

neighbours of 17

(L1

(2] S, V

(3 W, P

(4] V, R

] Ty &

Direclions [(96-100) In

question  below  are  givern

twolthree statements Jollowed by

two conclusions nmumnbered I oand

I You have lo take the given

statements to bhe true even if they

soem to be ot variance wilh

commonly known facls. Read alf

the conclusions and then decide

which of the given conclusions

logically follows from the given

statements, disregarding comrmonly

known facts.

(Give answer :

(1) If either conclusion [ or I
follows.

(2) If both conclusions I and Il
follow.

(3) If only conclusion I follows,

(4) If only conclusion I follows.

(5) If neither conclusion T nor 1l
follows.

5, (3t

fosblaviiny
Hritened it

riere b

(96-97) : Statements : No biscuit is a

cookie. All cookies are pastries.
Some pastries are sandwiches.
96. Conclusions :
I. All pastries are cookies.
Ii. All biscuits being pasines is a
possibility.
97. Conclusions :

. Atleast some cookies are
sandwiches.

[f. Some sandwiches are
hiscuils.

Some keys are
locks. Some locks are drawers.
All drawers are tables.
98. Conclusions :
I. No key is a drawer.
II. Atleast some
drawers.
99. Conclusions :
[. All keys can never be tables.
II. Atleast some locks are tables.

keys  are

100. Statements All frames are
pictures. Some pictures are
images.

{Conclusions :

I. Some frames are images.
I1. All frames are images.
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